HEZARTILIHE s=8= 000

\ IRLE— 140 $0pAY-
Kgg;(1Aﬁ)1uWL [ﬁ % 0.9 3k ]
FoRY 1/28
LoH U RPFHDE
e A=U1/2

Vv3IxR-—X Aal1/2

1®EDT5

DT R
FpAY L L HZ WIR—X
—OAC  BIEEEST, BESCT BEENED

| W% P m? /@K

-

@PILIRAIICE v R, s ¥
& LbLOIECOE. &
ZVIR—2EESTIE, )

71<

@IS /\VIC1 cmiZKZE
XD, R1ILEAND.
SEZLUTENTHN20D
HUKRSEICI D,

O & L
TW% PR
S (T AT £
Tk 07 gn e cla>d pr e
. FEh=E 208 -v3RZZ AXUA

o Uas0 . IMEGA/2

1E

C)%Lh-gb&jéjé FERIESTINICT D,

%K&"@%LVE? N L/ctj@éltbﬁ ﬁ\i‘ub\(jé
MTIVICBATA =TV b= —=TH1 59%<,

S R R L R R R e R R e S B B Y S

-I-
[0 02 % RS R RS R R R R R R R RS e R S R N R R N e A s W2 N0 S N S S A Sl N A R Rl e e e
17 zb¥$i>< a1—&



